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There is perhaps nothing which so occupies the
middle position of mathematics as trigonometry.
—J.F. Herbart (1890)
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The first use of the idea of ‘sine’ in the way we use it today was
in the work Aryabhatiyam by Aryabhata, in C.E. 500.
Aryabhata used the word ardha-jya for the halt-chord, which
was shortened to jya or jiva in due course. When the
Aryabhatiyam was translated into Arabic, the word jiva was
retained as it is. The word jiva was translated into sinus, which
means curve, when the Arabic version was translated into Latin.
Soon the word sinus, also used as sine, became common in
mathematical texts throughout Europe. An English Professor of ¥4
astronomy Edmund Gunter (C.E.1581— C.E.1626), first used Aryabhata

the abbreviated notation ‘sin’. C.E. 476 — 550

The origin of the terms ‘cosine’ and ‘tangent’ was much later. The cosine function arose from the
need to compute the sine of the complementary angle. Aryabhata called it kotijya. The name
cosinus originated with Edmund Gunter. In C.E.1674, the English Mathematician Sir Jonas
Moore first used the abbreviated notation ‘cos’.
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N DY

. S 1 ~ = NN
9. AABCHL /B si2vRl ©. 9 fan A= "5 ¢ld, dl (Ffalmd yer audl.
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11. <Al @l 2t 9 % A d s1e 24l %Rl :

(i) fan A <, Y& Rl 1 Sl U9 Sld .
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(iii) YRl A AL cosecant L UBUML cos A d35 @iy ©.

(iv) cot il A <L dLUSIR cot A 6.
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1
cot 30° = =55 = B

AD _ a¥3 _ |5

d % UMIEL, sin 60° = 25 = 5.~ = = €08 60° = tan 60° = 3,

1

2 b
2 . 1

cosec 60° = E, sec 60° =2 v+ cot 60° = f

0° i 90° W2+t Bisralidla sl

gd UL WS 5 % slesia Bsie ABC 1L vRll A o Wid 94

Al Al Yol suoL g s, (g2l 2l 8.16.) dl Rl Al
Bistalfidla olidl U 9 ueld Ul %M ¥H LA 4 WY <l

ad %9 dd-dd ouy BC <l dous medl wil. Big C , [big B -l
195 vldd ¥ A PUL LA MU 0° Al 2seu Aws ¢ susld 8.16

AR AC L AB -l qariol auied & %9l (g2 sl 8.17.)

A B

R A

C L1 4 1
o ‘," "0. ",' . C ". :

B

2usd 8.17

PUT LA + WU Yuedl dsen s ¢l AR BCHl dond ugl gl dos ¢l AR
BC

sin A = 2= 4 Het ugl gl ams el A R ZA o W gl vsed dws e, AR
@aodl AC il AB ¥t ¢4l dell, cos A = 2—2 4 Hed 1l 2sed Aws sl

il Hegal BUUBL FAR A = 0° 14, AUR sin A @ cos A Ul Hedn vl 530 uslel
el sin 0° =0 i cos 0° = 1 AU A4 S, AL Gualdel 2iuen

R sinQ° o 1 Sy 9

tan 0° = ——5 =0, cot 0° = 7755 = wedvlfid (54 7)
1 N ~ a

sec 0°= ——=5 =1 %1 cosec 0° = 5555 Yrit civalfad . (547)
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Aldl, gd Bl BB 5 %l slesil Bisiel ABC HLU vsi A < Wd 90° i Al Yl sMau
Qaidl 8 dl 2 Ralasl e A AL BustePdld ol U2 g Helld Ul FH-%H LA o HIU g
29 dx-dd ZC el adl o9l Hi2 Guisd uRRAR uwdl ougy AB <l dousS uedl. [Big A Big B «il
125 AL A WAL LA L WU 90° <l Bise A®s v, AR LC L WY 0° <l 2seH Aws ¢l
2 61y AC 61y BC L @dteiol Auldl 4l (il 2usld 8.18.)

2usld 8.18

a2 ZC < WU 0° ~il 2seU A5 €, UL LA | WU 90° <l AHd w5 ol 1y AC
2§ ol BC «l cous dotoiol udid 29 24 dell sin A 4 et 14l 2Ald %5 ¢, 2 wUR
ZA < WU 90° Al Mld 1495 8l, AR ZC < Wu 0° <l AHld s ¢ A ou% AB o WM
AdLooL 9 2l dell cos A o ML odsl viseH s sl

WU, 2UUBL sin 90° = 1 i cos 90° = 0 @rvdud s3l9l.

gd, dd 90° el ofln Bustaufcld oRiidl eiHaldl Huet 53 el sl ?

gd, Sl Bl Agel W2 0°, 30°, 45°, 60° A 90° HIUAL 6l % AUTAAL YL 58S
8.1 1i gulidly.

sies 8.1
ZA 0° 30° 45° 60° 90°
1
sin A 0 % E g 1
1
cos A 1 g E % 0
1
tan A 0 B 1 B ISR
2
cosec A v [Ad 2 2 B 1
2
sec A 1 B 2 2 oA [Ad
1
cot A ITRETIRY B 1 Wl 0
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A : Gudsd Stesul di AS A5l L 5 FU-FH LA o W 0° 4l Al 90° U B dd-dd
sin AL 0 ol adld 1 ad @ dal cos A o Md 19l 8l 0 2y 6.

AL UL Gusd stesHl Budidl Gudlol Seais Gelsrimi s3I
BELSREL 6 : A ABCHL B s12uRil 89, AB = 5 A4l 11 LACB = 30° A
(%>l 2uslat 8.19). dl 6l BC sl AC L coils 2l
B5a : ouy BC ~il dons alltal w2 20l iy BC e olly
AB 1 uadl Buistalfidly opidr wie s3g. 2l ven € e B WS ¢
o1y BC il oo €9 dal AB veil C <l a3l ouy 9.

2usld 8.19
e, g—g:mnC%\ta@tg %=tan30°=%
2419, BC = 543 A4l naal.
o1y AC | colls slldal M2 8L sin 30° = % Al (3% 7)
Hed 3, 3=
s AC =10 al

%>l 3, Guisd Gersriui »{lo ouyeil dousS alital w2 vl oflo [Asen a3 waaliu-L
UNAAL UL Gualal 530 wslut el

2ed 3, AC = {ABZ+BC2 = y52+(543)2 A4l = 10 Al

Belsam 7 : A PQRML, Q stevimll 9 (%>l »usld 8.20).
PQ = 3 A4l 24 PR = 6 @AMl <€, dl ZQPR i

ZPRQ 2L P
B5a : PQ =3 Al 24 PR = 6 Al 2ula 9. . 6 Al
3 aHl
~ PQ . X
ed ﬁ = sinR Q R
s sinR = > =+ 25 8.20
6 2
dadl  ZPRQ = 30°
e, ZQPR = 60° (31 7)

df 260 AT sl 91 5, s12510 BLsleml ol 515 s oy At A SIS w5 AL (515 s
dgsL adl dl SIS s 6ly) Ud g, dl Bustedl eusldl ouy 2 vRustidl Ay iEl asd 9.
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BELS20L 8 : R sin (A~ B) = 5. cos (A+B) = 3, 0° <A+ B <90°, A>B, dl A >3 B gl

B3a : sin (A—B) =

| =

el A — B = 30° (5% 7) (1)

w4 cos (A+ B) = % glaEl A + B = 60° (34 7) (2)

(1) 2 (2) -l G3a AL,
UYRA A = 45° 24 B = 15° 34,

ALY 8.2
1. [Bud ol
@)  sin 60° cos 30° + sin 30° cos 60° (ii) 2 tan® 45° + cos® 30° — sin® 60°
cos45” . sin30°+tan45°—cosec60°
(i) sec30°+cosec30° V) “sec307+cos 60°+ cot 45°

SCos2 60° +4sec2 30" —tan2 45%
sin® 30° +cos? 30°

\J)

2. AR [Aseu ue 52 i -l daieldl A5

@ % =
(A) sin 60° (B) cos 60° (C) tan 60° (D) sin 30°
. l-tan®45°
(1) m = e
(A) tan 90° B) 1 (C) sin 45° (D) 0°
() U A=..... Sl QUL sin 2A = 2 sin A A S,
(A) 0° (B) 30° (C) 45° (D) 60°
, 2tan30°
@v) _l—tan2 o
(A) cos 60° (B) sin 60° (C) tan 60° (D) sin 30°

b ~ 1 ~ ~ NN
3. Gtan (A+B)= B A an (A-B)= 5, 0°<A+B<90%A>B, dl A > B il

4. A&l QA AA O F AU d %Al dHIRL %ol dieddl A5
@i sin (A+ B)=ysin A+ sin B.
() PH-%H O L M Al dM dY sin @ L HeL Al 8,
(i) BH-%H O < M A, A4 d¥ cos 9 - H af ©.
(iv) O L £25 Y M2 sin @ = cos O Al
(V) A=0°32 cot AwAaAlld 9.
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8.4 siswa-u Gsiafdla dpeial

Adl dle 88l 5, %l 6L WRUMIAL HUAL AAGL 90° €l dl oirl MBI Hsoiloadl siesia se 6,

N
-~

A ABC ¥, ZB slevll ¢4, dl 9 dud »tél siesianl »is os vaal 7 (il 2usla 8.21.)

ZA + ZC =90° glngl, d ol szl ois oietid €9, el wa, C
A~ BC _ AB _ BC
sin A = ok cos A C’ tan A B
©)
— AC — AC — AB A B
cosec A= BC: S A 5’ cot A BC
2usld 8.21

gd, Ul ZC =90 — ZA Hesll Bsiadly apeirl avili.
el s He sl 90 — ZA 14 90° — A dils qvilsl,
BRIl 90 — A e AL ol i WAl ouy 59 ¢l ?

A" S ASL L 5, veIL 90 — A HI2, UMl 61y AB €9 st sl ellgy BC 69,

e,
oo _ AB o _ o _ AB
sin (90° — A) ~c 08 (90° - A)= AC , tan (90° — A) BC
(@)
o C o — C o = E
cosec (90° — A) = ~5° e (90° -A)= B €Ol (90° - A) B
gd (1) 2 (2) wi salde oidisdl uvumall sdi uud ASY 5
/ o = ﬂ = 3 o _ = E = ¢7
sin (90° —A) “c 08 A A4 cos (90° - A °c _ sin A
~ R _ AB ~ R c
A fan (90° — A) = BC ~ Co! A 24 cot (90° —A) = =tan A

sec (90° —A) = % = cosec A A cosec (90° — A) = AC =sec A

AB
2UH, 0° tr 90° «il a2 Hdal BRI A -l 835 HEd L2,
sin (90° — A) = cos A, cos (90° — A) =sin A,
tan (90° — A) = cot A, cot (90° — A) = tan A,
sec (90° — A) = cosec A, cosec (90° — A) = sec A,

S, A=0°2d A=090° 412 21l A © 5 AlE d ASAL

Al 2 tan 0° = 0 = cot 90°,

YA €9,
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gd sedls Geleell B,

tan 65°
cot 25°

Bele2nL 9 : [(BHd 9l :

G5 : 2l Rl el 3,
cot A = tan (90° — A)
w2 cot 25° = tan (90° — 25°) = tan 65°

< - tan65” tan65”

»ed s, cot25°  tan65° =1

BELSRBL 10 : 2 3A 2L @SR HU 1A dal sin 3A = cos (A — 26°) did, dl A <l [Gud 2l

Bia @ 2], 28 sin 3A = cos (A — 26°) 2Nd B (1)

¢d, sin 3A = cos (90° — 3A) elaigl 2uuEl wReun (1) 4 A uwsl quil asla.
cos (90° —3A) = cos (A — 26°)

¢d, 90° — 3A il A — 26° 6isl dgsiL dlael,
90° -3A=A-26°
e, A =29° ¥4,

BELSRWL 11 : cot 85° + cos 75° AL 0° it 45° A2l Wyl Bstalidld ol Gualal s34 ealldl.
B3q : cot 85° + cos 75°= cot (90° — 5°) + cos (90° — 15°)

= tan 5° + sin 15°

ALY 8.3
1. [Bud ol :
. sin18° .. tan 26° . .
() o7 (i) —orea® (111) cos 48° — sin 42° (iv) cosec 31° — sec 59°

2. Abid s -

(i) tan 48° tan 23° tan 42° tan 67° =1

(i) cos 38° cos 52° — sin 38° sin 52° =0
3. 9 2A ¥ agsied WY €l dal fan 2A = cot (A — 18°) ¢, dl A ~il [ud Ukl
4. %l tan A= cot B ¢, dl ud 2 5, A+ B =90°

5. % 4A ¥ aysIRd HIU 1AL dal sec 4A = cosec (A —20°) S, dl A <l [Bxd eliHl,

bY N N N N NN . B C
6. % A, B i C 21 AABC L MBI €, dl AllBd 520 5, sin ( ; J = cos %

7. sin 67° + cos 75° A 0° A 45° 4zl Huao weusl Bsiafdla @i s e,
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8.5 [BswBdla Rcaun

dud dle eal 5, %l AHlSQANL vddl Ad-L e YA Wi
A58 A S, dl uHlswA Fuan sl asiu. d o
uHel, R BlsBidla opRidRid adiadl adlseml A
ldl VRUSIAL UAs Hed HIE AHL5W A 1, AR d
lse Bisafdla Reuu sda.

L (Geworl »uusl s Bstalidly Ry a6
sA A dddl Gualal ofle seals Guull BisiaHdld

[t aled sal s39l. C B
AABC i £ B steveil 8 (%2l 2usl 8.22.) 1l 25ld 8.22
AB? + BC?* = AC? (1)

yReum (1)L &35 ued AC? 43 Gloldl, 2Ll

ABZ  BC? AC? .
AC AC AC

2 2 2
wp, (ABJ, (BCP _ (ac)
AC AC AC
(cos AP + (sin AP} =1
cos® A + sin* A =1 2

N

2§, 0° <A< 90° 1l 2UA 835 A HI2 A ©. ddl, d BusiaEdly Moy o,

e, WRBuH (1) 4 AB? 43 cloldl e,

AB2  BC? AC .
S+ —5 = —5 ™.
AB AB AB

SEONONE)

1+ tan* A = sec* A 3)

9l 2l uHlsW A =0° e AR D 7 8L, 0. %N A=90° €l dl 7 A=90° M2 tan A A
sec A AR Al 20, ulReud (3) oul 0° € A < 90° Ui Udd UASs A HIZ A 9.

N\ N N

¢d A 5, uReuy (1) 4 BC? a3 eualat dl 9 L.

o

AB? . BC?  AC?
BC? BC?  BC?
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(3] + (5e) - (ze)
BC BC BC
cof A+ 1 = cosec® A
Ul Al 5, A = 0° W2 cosec A A cor A AvUIRd AUl wuH, wReud (4) 2
0° <A <90° 4l »Udd UAS A HI2 U .
L Ml Guail eds Bisialidly dweliara 2 Bisialidly ol a3i saldl
ALY, 2ed 5 A S8 s Rl BHd sid €l dl 2 Bistalfidla ol Bud el asi,

N Y bY N Y Y N Y N N N 1
S ULl B0 5 Al Guaal i 54l Jld il asd. Rl 5, wueA fan A = Vel

o

AU 9. HIE, cot A= 43

A 1 4 2 3 \/§
gd, sec> A=1+tan* A=1 3= 3 19, sec A VA A cos A -

N 3 1 3
A Sin A= Jl-cos2A = 1,l—z = 3. Mg, cosec A =2

Bewsnl 12 : Bsiafdly oeidl cos A, fan A 29 sec A A sin A <L 23U ealdl,
B34 : cos® A+ sin* A =1 ¢l

cos>’ A = 1 —sin® A, »ed 5,
cos A = * \J1-sin’A
12, cos A = \Ji—sin’A ya (3% ?)
sinA SinA

VLH, tan A = =
cos A [ .2
1-sin“ A

~ 1 1
VA, sec A = TosA = '71—sin2A

Belsml 13 : ABd 530 5 sec A (1 —sin A) (sec A + tan A) = 1

1 1 sin A
Bia @ dLol. = sec A (1 —sinA) (sec A+tan A) = [cosAJ (1 —-sinA) [cosAJrcosAJ

(1-sin A)(1+ sinA)
coszA

1- sin2 A
coszA

coszA
= =1 = %.0l.

coszA
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cotA—cos A cosec A -1
' cotA+cosA ~ cosec A+1

Beleaml 14 : ABid 5 5

cotA—cos A sin A

N
B3c: QAL = TATA T s

cosec A-1

= %.0ll.

" cosecA+1

sin 8—cos Q+1 B 1
v sin 84+cos 8-1  sec B—tan B

Gelg20l 15 : MM sec? 8 =1 + fan® 0 <L BudlelL 534 ALBId 52 5

B5a ¢ el 7an B A sec B A AHAAL MAAHAL GUAlL sal-L dlaell, AUAM 2AUUSL Lol
(2usl @ AUBA 520l WdlHL 2 d [HaAu-l) ia 24 Dedl Wl €35 Uesl cos B a3 ouoile
2l Sl sec @ el fan @ <L 2A3UML FuidR s34,

sin@—cos@+1
sinB+cosd-1

SL.OL.

tan@ -1+ sec@
tan@+1-sec@

(tan®+ sec 8]—1
(tanﬂ— sec El]+1

tan8+sec8 1} (tanB—secH)

tan® 8 —sec? ] (tan@—sec)
(tane sece +1} (tan8@—sec9)

{(
{ tane sece } (tanB—secH)
{

—1— tan8+sect
(tan@—secB+1) (tan@—secB)

-1
tanB-secB

1

= secO—tan®
UL dl UL % HaAH AUBLA SAL MIdLdL Sdl d-il .6, €9,
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ALY 8.4

1. BisiaBidla 2Rl sin A, sec A @9t fan A AL cot A <l UL galdl,
2. val A Lol o BusieBdla ol sec A <l wEMl el
3. [ alHl

sin2 63°+ sin2 27°

cos2 17°+cos2 73"

@)
(i) sin 25° cos 65° + cos 25° sin 65°

4. AR [Aseu ude 53 A dH1z] uedll-l daieldl 2SRl
(i) 9sec?A-9tan® A= ...

A1 ®)9 ©) 8 Do
) (1 +tan 9+ sec B) (1 + cot 8 — cosec 9) = ..........
Ao B)1 ©)2 D) -1
(i) (sec A+ tan A) (1 —sin A) = ..........
(A) sec A (B) sin A (C) cosec A (D) cos A
) 1 +tan’A _
@v) _1+cot2 A e
(A) sec A B) -1 (C) co A (D) tan® A
5. <dlAl MUl 23l He welald crvaifid s30 9 d o veu agsier 9. i Ml ulbid
53
. 5 1 —cos8 ... cosA 1+sin A
(1) (cosec ® —cot ) = T0-& () T55imA T “eosA = 2sec A

tan 8 cot8
() T=zor8 T T=rang — | T sec 8 cosec ©

[ welaléd sin @ 21 cos @ ~ll @3 @vil. |

1+sec A sin2 A

V) TsocA~ = Tooox LA 5 Lo B 6l ) AAA-2AGIL UG 3U BUNL]

~ ~ ~ CosA-sinA+1
2 — 2 P
(v) [ cosec? A =1+ cor? A -l GualaL 53 —————

. 14+sin A
M) \Tsima = sec A+tan A

= cosec A+ cot A AL 53U
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sinf— 2sin3 a

3 =tan B
2cos” B—cosB

(vii)

(viii) (sin A + cosec A)? + (cos A + sec Ay =T + tan* A+ cot* A

1

(iX) (cosec A—sinA) (sec A—cos A) = A corA

[ 2 SO 2 %061 7 AAIA-HAI AE 3U UL ]

2. 2
1+tan A 1_tanA]
f— ——— f— 2
%) {I-FCOZZAJ [I—COtA tan A
8.6 AURIA

L USAHL dH {2 sudal el vl

1. o4l slevel B ¢ld dal, stesial Bisiet ABC i,
velL A <l a3l ouy

sin A =

P
vl A <l Wkl ou
cos A== - i
581
vl A <l A3l oy
tan A = =
vl A L wisl ouy
B B B B sin A
2. cosec A= n A sec A= oS A > tan A= ol A tan A = o5 A

3. o uusl S8 s Bistafidla oelidd Hed Rldl €193, dl vt BsBidla opiidiql yed
AR 2l wstd 9.

4. 0°,30°, 45°, 60° A 90° HIUAL vRUIL Hiedl BistafHdly oelidiql Hed

N

sin A Y cos A L HEL SARA 1 Al QHIR A Sld el sec A ¢ cosec A <L &L €3al 1 Al
1 el ad o Sl
6. sin (90°—A)=cos A, cos (90°—-A)=sin A
tan (90° — A) = cot A, cot (90° —A) =tan A
sec (90° — A) = cosec A, cosec (90° — A) = sec A.
7. sin® A+ cos’A=1
0°< A <90° &l ddl UAs AU sec’ A —tan* A= 1
0° <A <£90° &l ddl UASs A Hi2 cosec® A — cor A =1

|
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